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Que.1.

60°
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50o 609 70°
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a) A QS @OSE)NUND)?
b) PQ N1eXM M 180 BHEMBIBE) B>

Marks : (2)
Ans. £A =70°
(@1 BHI6Mo ABC @IS NUUDEBREYAS 3 MSEBI3OAM () 1GHHI6Mo PQREM (UD6BRU3
PQ =12

Que.2.




2N @O@3 (0 1EHHI6Mo ABC 630} MVARIR(® 1GHI6MMIGN). AB, BC, CA af)(m’
OUEBREINS MW NI MBIHBHNBAM P,Q.R af)(Mm QL.

a) (1GH06Mo PBQ 6)(R BHHI6MBE)0S @OBM U dHh6)6NBO10)bb.
b) ((0Y1BHI6Mo PQR 6)N BBI6MIEHUB dhr&)ENROT0N)bb.

0) (O GHI6Mo ABC @)6)S NIUIEEREINS aldx® 1 M 18MEBBNUWIEN (0 1BH06Mo
PQR 60 (UD6BBRU3 af)(M O 1@ 1H6))db:.

Marks : (4)
Ans. a) 60° (U°l@0o
b) 60° (W l@o
) AP=PR
BP = PQ=PR
af)0M3o
AP=BP=PR
PR= AP+ BP

Que.3.

A 5 P

2@ @3 ABCDE®) MO 1HAI6N) @R)6M.HSIEM® QC=2BQ @Ry6N).

a) PQB, CQD D) MUBLUD(D) 1GH-06MEBREIHEMM) DM 1) 106} b

b) (M 1@H-06Mo PBQ N1 NI06BBR&IAS M SO0 1600 af)(MASEEBEIAT (1) 1GHI6Mo
CQD W)6S NIUDEBRUB?

) 2 lOOM @3 MM BEQIBIE2IS | MVBLUD(D) 1GH06MEBBUT £-6)6N3OTON)bb.



Marks : (4)
Ans. a) 2 CQD =z PQB

2 CDQ = £QPB

£ DCQ = £PBQ . (0 1BHI6MEBRU3 (MIBLUD6BREI6M).

b) 2

¢) @6)Q0)BR0S | HEENBMOMNM) (PBQO0 PAD@)o or CQD @)o PAD @)0)

Que.d.

In the figure 2 B=2 ACP=x° and 2P=y°
a) Write the measures of the angles of triangle PCA and triangle PCB.

b) Write the ratios of the sides opposite to the equal angles in triangle PCA and triangle PCB .

c) Prove that PA x PB= PC72

Marks : (5)
Ans. a) xy, 180 - (x+y)
x,y, 180 — (x+y)

PA CA PC
b) PC . CB . PB
pPC
<) PC = PB
PAXPB= P02

Que.5.



D

2N@O @3 PQag)IM (U@ BCWHH MAINMO@AIEM). PR, CDEOUD)0
TUROTOEBRBIEM).

a) (0 1G@HH6Mo AQP, () 1BH06Mo ABC DN 16RI MILILBBHIEMYE-U8 aBNM ?
b) (Y 1BH06Mo ARP, () 1@H06Mo ADC DN 16RI ML LBBIEMIEU8 aBO?

9 % = % o)) OB

Marks : (5)
Ans.

a) ZBAC 6)al0@)(U0Q G063

2ACB= 2APQ

2ABC = £AQP

b) Aag)(M U @U@ 16)21 BHIENT OalI@ICUIQ BH-06MIEN)
2ADC =£ARP

2ACD = £APR



B

(@ BHI6Mo ABCA @B AB, AC a)(M’) (UU6BRS 1GRINHNBE Llo6NIEBREI6) CP, BQ
ag)omlou.

a) 2A = x° @IS LABQ, £ACP )M’ B06MIBHEIOS BOSENNT)?

b) AQB, APC )M’ (M CH-06MEBRE @3 @L1Y BdhbIMB-UBHE) af)® 100WBS
OUDEBREIRS @RoUDENIMLO af)PIMIds.

) AP x AB = AQ x AC o)) O@S 10166

Marks : (5)

Ans. a) 90-x, 90-x

b AC PC AP
AB ' BQ ' AQ
g AC _ AP
AB AQ

APXAB=ACxAQ
Que.7.



B C

(@ BB>96Mo ABC @3 2 B=90° . BD af)(M (UM AC @H6) Llo6nIDIaN.
a) ZA=x° @3 2C ,2ABD o) 1UQIOS @OSHOUND)?

b) ADB, ABC ag)(M’] () 1G5H06MeBRE (@3 MYR1{BH06IM)E-UB6)H6)®) 16)(0Q)BS
OUEBREIROS @PoUENIMULO af)PIMId:.

c) AB? = AD x AC a)M) 6811566
Marks : (5)

Ans. a) 90-x, 90-x

°) B ' AC ' AB
, AB _ AD
“Ac T AB

AB? - ADx AC



